Specification Grid-2065

Time: 2.15 hours. Full Marks: 75
Subject: Science Pass Marks: 24
Abilities
S.N. Topics 2‘;‘ t(i)(:n N(:L‘J.e(;fti%;b Marks K u HA Remarks I\-;I(;trils
q q 20% | 30% | 50%
1. Force+Energy 1 g 75
a
2. Pressure 1 b 7.5
a 6 9 15 Physics 4 question 30
3. | HeattLight 1 b 7.5
4. | Current Electricity & Magnetism 1 g 7.5
5 Clas§|f|cat|on of element+chemical Reaction + Hydrocarbon 1 a 75 3 45 75 Chemistry 2 question 15
and its compounds + Gases b
6. Metals + Materials used in daily life + Acid, Base and Salt 1 g 7.5
7. | Virus + Stimuli and reactions + Blood circulatory System 1 g 7.5
8 Cell division+Asexual & Sexual Reproduction+ Reproduction by 1 a 75 45 7 1 Biology 3 questions 295
spores b
9. | Classification of Plants and Animals+ Ecosystem+ Genetics 1 g 7.5
10. | History of Earth + Atmosphere+ Universe 1 a 7.5 15 25 35 Geot Astrqnomy ! 7.5
b question
Total 10 20 75 15 23 37 10 75

Note: There are ten questions, each carrying 7.5 marks. Each question has two sub-questions. Each sub-question has the
weightage

K = Knowledge

U = Understanding

HA = Higher abilities (Application, synthesis, analysis and evaluation)
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clgjfo{lj 1fg (compulsory Science)
Set-1

-do | @ 306f 1% Idgp KOs | 8%

DTS | 6$

I: .S

eflts [j1fg (Physics)
u?Tj an egf]s]xf]< o;sf]lbzf stilt/ xt5 < olb k]jlsf]Ik08 6 x 10* kg
/ cwfof; 6380 km 5 eg] k[jlsf] ; txaf6 500 km dfly /x¥f] 200 kg 1k08
ePsf]j:tsf]thh slt x5 < 1+0.5+3=45
What is gravity? In which direction does it act? if the mass and radius of the earth

are 6 x 10* kg and 6380 km respectively. What is the weight of the body of mass
200 kg at height 500 km above the earth's surface?

-v_ ydffolSno/ kibhg Kkltijjof egf] s] xf]l< gkin ;/sf/n] ufy/ Uof; Knft6

G- -s_

(i)

(i)

(iii)

lgdfffsf nflu cgbfg Ib0/xEf] 5 . o;n] pihf{ ;286 oY ug{s;/L dbt
ubb < syh0{cfbf ts{Ibofklié ugkf\. 142 =3
What is thermonuclear fusion reaction? Government of Nepal is giving subsidy to

establish Bio-gas plant. How does it minimize the energy crisis? Give any two
openion to prove it.

riknf0{c;/ kig] b0{ cfbf tTTjx¢ sf]lgfd nYgkif\. tnsfllrg xJL ;fwPsf
kEgx¢ sflpTt/ nYgkff\.

What are two factors that affect the pressure given by an object? Study the given
figure and answer the following: 1+0.5+1+1 =35

lrqdf sy |; bwfet bjsfOPsT]5 <
Which law is shown in the diagram?

pSt |;bwfet nygx\. FIb=—==

i

State thelaw. Nz ------

0; 1;bufstdf chufl/t ¢, sIbOET pks/Ofxe,sflgfd nYgkT\.

Name any two devices based on this law.

s} A ebg] J:tsf] ;tkllifs 39T 5 5 ebgsf] cy{s] xf] < fnjgsf] Igod
cflsfdI8hsf] I; bwfctetbf s;/L lebg 5 < sg}Ps st/ lbgkff\. Pp6f
20mx10mx5m cfotg ePsf]l6gsf]6bfasldf cfwf kigl xBf kfgln]Ikidf Ibg]
rik IgsfNgkff\. 1+142=4
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(i)

(i)

(iii)

-V_

The relative density of an object A is 5. What does it mean? How is law of
floatation different from Archimedes's principle. Give one reason. A metallic
tank of dimension 20mx10mx5m is half filled with water? Find the pressure
exerted by the water on its bottom.

1 Sofnf]l tfkzIStsf] ki/efiff nygkff\ . /kih]p/df /flvg] sfkfsfhf,
lao/x¢ sf] afgndf skl 7fpRvinl /ilvPsf] x5, Isg < sb} kbfy$f] 5 kg
Ik08nfo{10°c tikjjd jpw ug{2.1 x 10° J tikzISt cfjZos k5{eq] ;f]
kofy&f]ljl1zi6 tik wi/0f Ifdtf slt xfpf < 1+1.5+2=4.5

Define one calorie heat. There is some empty space in the bottles of Coca-Cola,
beer etc. which are kept in refrigerator, why? If 2.1 x 10° J heat energy is
required to increase temperature of 5 kg mass of a substance by 10°C. What will
be the specific heat capacity of the substance?

nj; sf] ;fdYo§f] P;=cf0{ Psf0 s] xf] < cfiFfsf] sf efun] cfi#sf] ni; sf]
sbls/0f b/inf0{36a9 ugsfd u5{< cfi#sf] n]; sf] sib|s/0f b/l 36fpg
g;Isg]sdhfllnfi{s; /L ;Wfg{;Ist5 < Irq;Ixt nfgkff\. o0.5+05+2=3
What is SI unit of power of lens. Which part of eye changes the focal length of
eye lens? How can we correct the defect of eye in which focal length cannot be
decreased? Write with corrected figure.

IbOPsf]lrg clloog u/l ;fWwPst kfgxe, sflpTt/ Ibgkfp\.  0.5+1.5+1+1=4

Study the given figure and answer the following

qUEStionS: —|_1.5V _1.5V _1.5V
IbOPsT] ; hx¢, sf] ; dXLs/0f sf kkt/sf]xf]<

What type of combination of cell is given? /1\0/\(;\
eff6fid6/df sit dfg bi/fpnf < Ix;fa ugg\ L o
What will be the value of voltage shown by the voltmeter?

Calculate.

0; h8fgsf]Pp6f akifObf / Pp6f pkoflutf nygkf}\.

Write one disadvantage and one application of this combination.
[jbbt\ riaslo pkkibg egkf] s] xf] < IbOPsf]
ofs; kid{ st kpf/sf] xf] < pSt 6#; knd{df
; BI8/L kibstx¢, sf] ; 2Vof KTtf nufpgkff\.
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% -s_

What is electromagnetic induction? What type of transformer is given in the
diagram? Calculate the number of turns in secondary coil. 1+0.5+2=3.5

/;fog [j1fg (Chemistry)

clS; hg / Snfl/gdiio]sh a9l ;ljjo €Ty xf]< Isg < clS;hgn] ;fl8od ; &

Kitljiof ubf{xy]/f;folgs kltljjofsf];6tint ;4 ;dLs/0f njgkft\.
0.5+1+2=3.5

Which one is more reactive between oxygen and fluorine? Why? Write the

balanced chemical equation of reaction between oxygen and sodium.

Oy/sf] ; Arofids ;4 / Pp6f pkoflutf klg nJgkif\. kfgl; & 3ibf sfaffjs

chn agfpg]lof; sflkpfli zfnfdf agfpg]lalwsf]irg agfpgkff\. 1+1+2=4

Write structural formula of ether and one use of it. Draw a well labeled diagram

of the laboratory preparation of gas that forms carbonic acid when dissolved in

water.

kfol Pyfsf]6ns Ibg] kISNnf] efudf sty wit' nkg ul/Psf]xt5 < ;flwit' /
Snfl/g Uof; sf]larsf] /f;folgs Kkltijjofsf] ;6tint ;4§ ;dls/0f nygkif\.
;fiBod sfaf§p Iff/lo nj0f xf] Isg < 0.5+2+1.5=4
Which metal is used to plate on the back part of mirror to make it bright

generally? Write the balanced chemical equation of the reaction between that
metal and chlorine gas. Sodium carbonate is basic salt, why?

|;di6, afnjf / kfglsf]ld>0fnf0{s]elgt5 < ;f]ld>0fsf]hig]cjlw adfpgsf]
nflu sJugk5{< sRrf kbfy{/ 3Ng] Ifdtfsf chuf/df ;fal / 186/hj6df ki/s
nygxip\. 0.5+1+2=35
What is mixture of sand, cement and water called. How setting time of such

mixture is increased? Write the difference between soap and detergent on the
basis of raw materials and dissolving capacity.

hij 1J1fg (Biology)
ef0/;nf0{Isg ;hlj / Ighl§ larsf] >fvnf elgt5 < ;]3] :kf0gn kin8
dl:tissf] st efudf kf05 < o;n]s]sfo{ubd < kifpf] 6bflS; ; / kifpf]
okHdlar sb}h0{cfpf letgtf nYgkf}\. 1+1+40.5+2 = 4.5
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Why is virus called the bridge or connecting link of living and non-living
beings? In which part of the brain cerebrospinal fluid found? What is its
function? Write any two differences between phototaxis and phototropism.

/Strik egpf] s] xf] < /itf /Stsfif / ;Y /Stsfiflar agfj6 / sfoéf
cfwf/df bO{cfpf letgtix¢, nYgkif\. 1+2=3

What is blood pressure? Write any two differences between red blood cells and
white blood cells on the basis of their structure and function.

;f06fB10gl; ; egkf]s]xf]< Irqdf st kef/sf] fif omologos
ljefhg b{/fOPsf]5 < o;sf] cj:yf kig nYgk\. Ce”‘“’romosome
s:tf vinst la?jfx¢nf0{ elh6lee kikfu} gafe
khgg\ ul/65 < To;/L khgg\ ug{Ps la?jfsf] gfd
nYgxip\.

What do you mean by cytokinesis? Which type of cell division is shown in

figure? Write its phase too. What types of plants are reproduced by vegetative
propagation? Also write the name of a plant that reproduces by this method.
1+0.5+0.5+1+0.5= 3.5

Rofp vig Isg ;ts{xy h?/L 5 < vig oflo Rofpsf bO{ cfbf pbix/0f
nYgxip\. plgpBf] lofdbfkif06 cj:yfsf]lrq agfo{ sb}bd{efusf] gfds/0f
ugkip\. 1+1+42 =4
Why should we be careful while eating the mushroom? Write two examples of
edible mushroom. Draw the gametophyte stage of fern plant and label its two
parts.

/fofhfo{ JuLE/0f u/l o; sf]Pp6f ulf nYgkff\. vibbb >fvnf egkf] s]xf]<
sfa§ rjisf]l/flrg agfpgkp\.

Classify lattice with one characteristic. What is food chain? Draw the graphic
sketch of carbon cyclel.5+0.5+1.5=3.5

jfofut nlftf eghf]s]xf]< /ftflkin kiNg](RR) / ;Xfkih kilg](rr) s]fpsf
lardf kixn]k/;¥g / kKI5 :j;¥g u/fOof]. kixnf]/ bf}{] jzdf s:tf]s:tf]
/2st kih xy] slfpsf] la?jf lg:st5g\/ Isg < cfjZos rf6{ tof/ kf/l
n]lgkf_t \. 1+3 =4
What is hereditary character? Pea plants with red flower (RR) and white flower
(rr) are cross pollinated first then self pollinated. What will be the colour of
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flower in first and second generation of that pea plant and why? Write with
necessary chart of filial generation.

e"tyf cGtl/If 1J1fg (Geology and Astronomy)

N:=-s_ K[jLsf] pTkITtaf/] hh{ jkigsf] kl/sNkgf ;21fkdf nYygkif\. s5jf / 3fBfsf]
pTkITt ePsf] sfnsf] gfd nYgkff\. cthfy tx Ijofz xbfst sy}b0{ cipf
sf/0fx¢, nYgkff\. 1.5+1+2=45
Explain in brief about the origin of the earth on the basis of George Woffen
hypothesis. Name the periods in which tortoise and horse evolved. Write any

two reasons for the depletion of ozone layer.

-v_ sinf] I5b| egkf] s] xf] < tf/f d08n / ti/tk*hlar sb} b0{ cfpf letgtf

nygxip\. 1+2=3
What is black whole? Write any two differences between constellation and
galaxy.
»*

pTt/ kl:tsf k/LIf0f si~hsf (Marking Scheme)

Setl
I: -5 sbluk tyf pkukn]sb}j:thit{ctkigf]sioit/ cfsifff ug{annfO{u?Tj
an elges . 1
u?Tj ansf]lb; f k[jLsf]sibjt/ xt5 . 0.5
oxfF k[jLsf]Ik08 (m) =6 x 10 kg
cw{of; (R) = 6380 km
J:t5f]1k08 (m) = 200 kg
J:tsf]prio (h) =500 km
G =6.67 x 107" Nm? /kg?
th (w) =2
R +h = 6380 + 500 km
= 6880 km
ca, ;Ycg;f/, th w) (g E/'E;z cg’f/ 0.5
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_ 6.67 x 107" Nm?/kg® x 6 x 10** kg x 200 kg
- (6880 km)?

_ 6.67x6x200
~ (6.88 x 10°°

_ 6.67 x 6 x 200
~6.88 % 6.88

_ 8004
473344

=169.09 x 10N
=1690.9 N 0.5

x 1071 N 0.5

X 1013—12 N

x 10N 0.5

-gffl PsfO gny/if 0.5 s6fpg]

-v_ bO{cfpf xnsf GolSno;x¢ tik / riksf] sf/0in] ;athg e0{ uxfFolsno;
agfo{zISt lg:sg]kljofnfO{ydffolSno/ kibhg k|tljjof elgs . 1
(i) uff/ lof; knf66 Igdfff u/l pkofl ubf{cgljs/0flo pihi&flvkt ug{b/ 36y
u0{phf{; 286 Gof x5 . 1
(i) ufj/ lof; knft6afe v] u0/xkf j:tx¢af6 bl3gfnlg ¢ kdf ;:tflphféf] ; fk
atg]ePsfn]vigh th h:tf dx&f]pihfgflvkt sd e0{prhf{; 286 365 . 1
@--s. an 0.5
Iffknn 0.5
(i) kf:snsf]igod 0.5
(i) abb efBidf /x$f] t/n kbfyff sy}Ps 7fp8f rik IbOof] eg] Tolt g}rfk
;abt/ nDa eP/ k[ f/0f x5 . 1
(iii) xf08Hns Inki6, xi08fns ak cflb . 1
v Jit' A sf];fklifs 3gT) 5 5 ebgsfley{j:t' A 4°c tikjjddf ePsf]kfiglsf]
307] ebbf 5 udff a9l uxf}xt5 ebg]alenss . 1
njgsf] Igod tl/xkf] j:tdf dfg nfu' xt5 t/ cflsfdI8hsf] I; bwftt
tl/xkf]/ 8akf]by}j tdf nfu'xt5 jf o:t}si/0f nj/fif 1
oxffh =%=2.5 0.5

d =1000 kg/m?

g =9.8m/s’

P =hdg 0.5
=2.5x 1000 x 9.8 0.5

112



s

= 24500 pa -gfp | PsfO gnj/§if 0.5 c®s sfol] 0.5
1gm zbl kfglsfl1°c tikjjd aSfpgst nflu rflxg] ttksflkl/df0fnf0{1
Sofnf]l elges . 1
kfgLsf] clgoldt k|, f/sf] st/0fn] ubf{ /kilh/§/leq /xEf] sfefsfhf lao/df
/x$flkfgLsf] tikjld 4°c af6 tn embf{To; sflcfotg jpw xg]JePsfn] 1.5

m =5kg
dt =10°C
Q =2.1x10%
= 210000 J
S =205
Q =msdt
__Q
m x dt
_ 210000 .
5x10
= 4200 J/kg°C -gfp || PsfO gni/§if 0.5 c®s sfbl] 0.5
P;=cf0- Psf0 8fofj6/ 0.5
l;lno/L d;n 0.5
ste}; ni; sflkpfi u/] 1
Convex lens
- _~Retina
IR = Image
1
i >Wjijd h8fg 0.5
(i) >WLjid h8fgdf hddf efl6h (v) = vy + vo+ vs 0.5
=15+15+15
= 4.5V 1
t; y{efl6ld6s 4.5v byiph .
akifobf |~ ; hx¢, sf]cfo' 5Hf]x65 . 1
pkofljutf | 6r{nf06, ; r{nf06 == == cflbdf kpfl ul/65 . 1
sg}rbaslo Ifdf /xEf]; rins tf/nf0{nda xgJu/l rindf NofpBf pSt
tf/df [jbbt\zISt pTkég X65 . 11
:6k 8fpg 6k; knd{ xf]. 0.5
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oxffn, =110
vi =220V
n =°?

v, =30V
s4cgsf/,

Va _ I

V. T, 0.5

.30V _np
© 220V T 110
or, 3300=220n, 1

ca

t;y{ ; B8/ kibst ;2Vof =15 0.5
% -s_Snfl/g ad ;ljjo 5. 0.5
Snfl/g a9l ;ljjo xt5 Isgls o;sflaflx/L slfdf 7 cfpf On§6ry x65 / 0;nf0{
fulfill X Pp6f Ony6Ry dfq cfjZos kbd hals clS;hgsf] ;agtbf aflx/L
slfdf 6 cfpf OnJ6iy X655 / o; nfo{fulfill x§ 2 cfpf OnJ6Ry rilxes .

Na+ 0O, —— Na,O 1
4Na + O, —— 2Na,0 1
H H H H
| |
-V_ H-C-C-0-C-C-H 1
| |
H H H H
nfsn Pglyl;of ¢kdf kbfli ul/5 jf ¢ o:tnyif 1

Dil. HCI Carbon
. dioxide
Lime stone £
(CaCO3) - 1+1
6. -S_ nkg ul/g]wft’ rfkt 0.5
Ag + Cl, — AgCl 1
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2Ag + C|2

— 2AgClI

;fiBod sfaf§p njof s8f I/ / g/d njlflarsf]/f;folgs kitljjofaf6 abg]
ePsf]xgfn] ; fl8od sfaf§pnf0{lfi/lo cdn elgts .

-v_ uf/f elgts egl nytif

|;di6 agfpB |;di6df Intzd Id; P/

;fay

I86/hT6

(i) krbf6kPl; 8af6 agfles .

(i) kPHnod /;fogaf6 agfes .

(i) kfgldf sd 3hgzln x5 .

(i) kfgldf a9l 3hgzin x5 .

& -s_ ef0/;n];hlj / lghlf bykflskl ulf bysfpg]ePsin]
* ;Jhflkfogn kin8 dl:tissf jfodf6/ / P/fstj08sf]lardf kf0i5 .
*0;n]dl:tisnf0{aflx/L rfpkés nfigaf6 arfpb .

kifpf] 60fIS; ;

KTpRkAd

rfnnfO{kiff] 6bfIS ; ; elgs .

() Kbz pikIs e0f; hjn]ovipg]

(i) kbfz pik]s e0{ la?jfsf
ljletg efux¢df xg] jpwnfOf

kifpfpkHd elges .
(i) 0;df ;hijsflk/}efu rindf (i) 0; df l1a?jfsf]skl efu dfg
cfpb . Jbw x65 .

-v_/utn]/St ginsf leTtix¢, df kig{rfknfo{/St rfk elgt5 .

I 15T ST

X7 /5t ST

(i) loglx¢, af0stsg cfsf/sf x650\

(i) loglx¢ sf] clgoldt cfsf/

/ GolSno; xBY . X5 / 6olSno; x5 .
(i) loglx¢,n]clS; hgsflkpfx (ii) loglx¢,n] /fusf
ubbg\. sl6flfke, ; & n8Yy] sfo{ubb .
*:.s  sfif Ijefhg k|jjofdf cytoplasm Ijefhg xghfO{cytokinesis elg5 .
Idof]; ;
hfouflég

/fdf]vinst lap agfpg g;Sg]la?jf

pv'jf c¢,

k/fn]Rofp

sfJRofpx¢, 1Jiffin'xg ;SglePsfn]
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-v_ cfdfafaafe S5HLAf ;g{; Sg](Transferable) nlf0fnfO{j2f0fut nif0f

stgJRofp Jf c¢ sblgfd nyif

cfls@fla
1+1

PeVI/I8
cfisgfylod /fOHjf08
Pey18od jf c¢,
/foflsf] juls/of
|s28d - jo:kit
;als@8d - kigli;
I8lehg - Pichcflkd{

;al8leng - 8f0sfl6in8g
pbfx/0f - [fof] (Lettuce)
0; sflkftsf /] fx¢, hinl h:tf x65g\.

0.5

0.5
0.5

sg}Ps kil/l:ylts kfffnldf Pp6f 6kis ngnaf6 csf{ekis ngndf / o:t}

elges .

(Hereditary Character) elg65 .

116

0.5

15



kixnf] jzdf ;a}/ftf]xt5 Isgls /ftflkhn udf of kolf ulf xflha Is bff{]
JZdf Pp6f zbl /ftf] Pp6f zbl ;Xf]/ bO{cfbf j0i{z2s/ -I7dfxf_ /ftf]x65
Isgls Uofdp (Gamete) athf higx¢, sf] ;lubifg x65 .

-/ftf]R R X rr-;i]

Rr Rr— klxnflaz

Rr Rr

st L

' oy

RR Rr Rr bt {laz

N: -s_w]};do kixn]akdfo8df 30b}u/Bf]Pp6f [jzfn nfdkRSdf/f ;6§ B 7Ss/

vfg ud{k[jlnufot cto uk / pkuk¢ sflpTkiTt eP . 1.5
sbjf- 6kl ;s 0.5
3fgf - kfnofl; g 0.5

cfhfy txsf [jgfz xgsf si/lfx¢,
o Snfltkinflf]sfagst a9l kpfin]cfhfyy Uof; nfO{IjR5bg ug{ePsfn] 1

o sfaf 6p&nf]i08, IdyfOn affif08 h:tf Snfl/g oSt offussf]si/iin]
cthfgnfO{lJR5bg ug{ePsin] 1

gff I cto ;xL pTt/ n{if kig c@s Ibg]
-v_ clobt 3g cfsfzlo j:t' h;sf]c;ldt u?Tj an x65 To;nf0{ sfnf] 50|
elges . 1
tf/f d08n tf/fk~h
(i) loglx¢ sf]lglZrt cfsf/ x65 . (i) loglx¢ sf]lglZrt cfsf/ xby .
(i) loglx¢, sf] ; Vof 88 cfpf 5g\. | (ii) loglx¢, sf] ; @Vof 1011 x65 .

*
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clgjfo{lj 1fg (compulsory Science)
Set -2

-do | @ 306f 1% Idgp KOs | 8%

DTS | 6$

ljifo 1J1fg Group A — Physics
1. -s_ u?Tj kjli egkf]s]xf]< Ixdin / t/f0{Iffdlio]sb 7fpdf u?Tj kjhisf]dfg

adl xb5, Isg < Iglzrt pri0afe k[jlsf]; txlt/ sg}j:t' v ;Nbf bO{; El8
;dokl5 pSt j:t'hldgdf klofleg]prf0 kTtf nufpgkf}\.

[1+0.5+1+2=4.5]

What is acceleration due to gravity? In which region between Himalayan and
Terai, the acceleration due to gravity is more why? If a body dropped from a
certain hight and it reaches the ground after 2 seconds Calculate the height of that
place.

gjls/0flo / cgljs/iflo pihflar bO{letgtf nfgkff\. jfo' pihfaf6 s;/L
[jbbt\pTkibg ug{;Is65 < 5fps/Ldf nYgkif\. [2+1=3]

Write any two differences between renewable and non-renewable sources of energy.

2. -S

How is electrical energy obtained from the wind energy? Write in short.
piljftk egf]s]xi]< cfisdI8h / njgsf]igodlar b0{lebgtf nygkf}\.
xf08fins Kk} sy I; bwittdf ciwfl/t 5 < pSt |; bwftt sf cj:yfdf dfto
X65 < [0.5+2+0.5+0.5=3.5]

What is up thrust? Write any two differences between Archimes's principle and

law of floatation. In which rule the hydraulic press is based on and in which
condition this rule is valid?

xfO8Hd6/ egkf] s]xf]< c08f -kih_ zbWw kfgldf 8A5 t/ gb kfglsf] ;6tft
3fhdf pqt5, Isg < Pp6f si7sf]6]if (8cmx5cmx4em) kigldf /fVbf sit efu
kfglleq x65 < -sf7sf] 3gTj = 800 kg/m? / kiglsf] 3gTJ = 1000 kg/m*
[0.5+1.5+2=4]

What is hydrometer? An egg sinks in pure water but floats in saturated solution
of salt, why? a piece of wood (8cmx5cmx4cm)is floating on water. What portion
of wood should be inside the water surface? [The density of wood = 800kg/m?
and density of water = 1000kg/m’]
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3.-s. sb bO{tTTjdf j:tsftikzIst e/ k5{< tikzlStsfces kifinldf Psf0 s]

5.-S

xf]< Pp6f tidfsf] Kg sf]lk08nf0{20°C af6 90°C df ttfphi slt tfkzISt
Ibgk5{< tfdfsf]ljlzi6 tfk wi/0f zISt 4000/kg°C 5 . [1+0.5+2=3.5]

On what two factors do the quantity of heat in the substance depend upon? What
is the unit of heat energy CGS system? What quantity of heat energy is absorved
by copper of ¥2 kg mass when it is heated from 20° C to 90°C ? The specific heatt
capacity of copper = 400 J/Kg°C

nj; sflkifs; ugfkljjof etgfn]s]alems < Pp6f

ste}; nl;sf]lj:tft Ps xy j:thfo{n];afe 5= Retina
sxtF/fVgk5{ < tn IbPsf] Irqdf cfi#sf] sb

kif/sf] sdhf]ll by/fOPsf] 5 < pSt sdhf]l x6fpg sg nj; kpfi
ugkb®d < Irqdf bi/fpgkff\.  [1+1+0.5+1.5=4]

What is focusing ? in which place of the principle axis, the object is kept so that
the magnification of convex lens is one ? Which type of defect of vision is shown
in the given figure? Which lens is to be used to remove this defect of vision?
Show in diagram.

[jbbtsf]tik c;/ egkf]s]xf]l< o; ;Datwl Ps pks/0fsflgfd nygkff\.
Pp6f 3/df eow sf 6 cfpf alax¢,, 750 w sf 2 cff Ix6/ / 1 kw Sf]Ps 0:qL
kpfhi ul/t5 eg]220v sf]nfOgdf ;7IIft ;fy [jbbtlo pks/0f ;~rfng ug{
sit Ifdtfsflkioh kpfpi ul/65 < [140.5+2=3.5]

What is heating effect of electricity? Write the name of one instrument related to
it. In a house, 5 bulbs of 60w, 2 heaters of 750 W and 1 iron of 1 kw power were
used in the circuit of 220v. What capacity of fuse should be used to operate these
equipments safely? Calculate it.

zISt ¢ kibt/ / |;bwictst ctwi/df hple/ / [jbbt\dip/lar sg}b0{letgtf
nYgxip\. kfglsf]ljbbt\IjRShg k|jfofsflgfdfist Irg nfgkff\.  [2+2=4]
Write any two differences between generator and electric motor on the basis of
energy transfer and working principle. Draw a well labeled diagram of
electrolysis of water.

di8lne klofl8s Igod nygkfi}\. tiinsfdf I0OPsf tTTjx¢ sf ciwl/df tnsf
kEgx¢ sflpTt/ nygkff\. [1+1+0.5+2]

Write the Mendeleer's periodic. Answer the following questions on the basis of
given electronic configuration of elements.
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A =1S? 2522P° 352

B = 1S%,25%2P°, 35%3p?

C=1S% 28°2P°

A/ c tTTjsf] ; eHotf nYgkif\. Write valiancy of element A and C.
B sf]lAins nYgkf}\. Write the bolck of element B.

ii. tT] A/ B lar xy]/f;folgs k{tljjofsf] ;6tint /f;folgs ;dls/0f

nYgxf} . Write Balance chemical equation of reaction between A and B.
lUn; Jfhsf]Pp6f pkoflutf nygkf}\. IbOPsf]irgsf ciwf/df tnsf kfgsf
pTt/ nYgkff\. [ 0.5+0.5+1+1=3]
Write one use of glycerol. Answer the following questions on basis of given
figure.
i.  Uof; hf/df sg Uof; hddf ul/Psf]5 <

Which gas is being collected in the gas jar?
i. pStlof; agfpg riflxg]/;fogxe sflgfd nfgkif\.

Write the necessary chemicals required to prepare this gas.
iii.  pSt Uof; nfO{s; /L k/LIT0f ug{;Ist5 < nygkf}\.

How do we test this gas?
riNsf]kf0/f06af6 sb wit' kf0e5 < wipn / ldn]ndf ki0g]Ps lebgtf nygkif\
. rfBin] uf9f ;NSol/s PI;8;& /f;folgs k|tljjof ubf{s]at5 < ;06tint
/f;folgs ;dLs/0f; Ixt nfgxi}\. [0.5+1+2=3.5]
Which metal is obtained from the ore chalcopyrite ? Write a difference between
ore and mineral. What happens when silver reacts with concentrated sulphuric
acid? Write with balanced chemical equation.
I;di6 IsN@s/nfO{kl/eflift ugkf}\. kf/ ss/sf]la8 akpf06af6 agf0es,
Isg < ;fabsf]Pp6f pbix/0f nYgkff\. 18186Lsflkpfli Hoth}xflgsf/s x65,
ISg < [1+1.5+0.5+1.5=4.5]
Define cement clinker Handle set of pressure cooker is made with bakelite, Why?
Give an example of soap. The use of D.D.T. is very dangerous, Why?

efd/; egpf]x]xf]< xiB]/fl sf ef0;/sf]st/0fn]nfl5 < /utsf]sy}th0{cfbf
sfdx¢, nYgkff\. [1+0.5+2=3.5]

What is virus? Which type of virus causes mumps ? Write any two functions of
blood.
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csflo Ijjof egkf]s]xf]< PShfjjf0g / 068fjH0g ufylx¢,df shth0{clbf
lebgtix¢, nYgkiF\. ;0fvL kih rxlsnf]3fdit/ kis§' st kif/sf]6bflS; ;
Xfl[< [1+2+1= 4]

What is reflex action? Write any two difference between exocrine and endocrine
glands. Sunflower moves towards the sunlight. What type of taxis is it?

Idofl; ; sfif ljefthg egbf]s]xf]< Ib0Psf]lrgsf cfwf/df dfo6fl; ; sf]sh
cj:yf b¥fpg vilhPsi]xfl< pSt cj:yfst b0{cfbf kI/jtx¢, nYokif\.
dfoefl; ; sfif Ijefhgsf]b0{dxTjx¢, nygkfE\. [0.5+0.5+2+1=4]

What is meiosis cell division? Which stage of mitosis is shown in given figure?
Write any two features of this phase. Write any two importances of mitosis cell
division.

dylgs khggsf b0{cff [jziftix¢, nYokif\. cN6/gtg cki hl} g egkf]s]
xf]< Rofpsf]dxTTj nygkff\. [2+1+0.5=3.5]

Write any two characteristics of sexual reproduction. What is alternation of
generation in the lifecycle of fern plant? Write the importance of mushroom.

zbw stnfld’;f (8B) / zbW ;Xf]d’;f (ob) lar k/kngg\u/fpbt kixnf] jzdf
sfnf d';f dfg bi/f k/] Isg < tL sinf d;fx¢ lar :jkhgg\u/fpBt bf} {] jzdf
sfnf d%f / ;xf d'fsf] kigfpfok cgkit tyf |hgfpfok cgkft nygxif\.
cf/PgPdf kfOgf] b0{ cfpf gf06khg a} sf]gfd / 18PgPsf]Ps sfo{nJgxi}\.
[1+0.5+2=3.5]

When pure Black rat (BB) and Pure White rat (bb) are crossed reproduced all
black rats appeared in F; generation, why? What will be the phenotype and
genotype ratio when they are self reproduced in F, generation? Write the name of
two nitrogen bases in RNA and one function of DNA.

lap / k/fu ;¥g Kkljjofst cfwf/df ;Nnf]l/ ;Nenflar ki/s nYgkfp\. ;kfifo{
sh Snf;df /flvPsf]5 < rp/sf]ki/l:ylts kbwitdf kf0g] bO{ cfpf chljs
tTTj / Pp6f hiys tTTjsflgfd nYgkij\. [2+0.5+1+0.5=4]

Write the difference between pinus and orange on the basis of seed and
pollination process. What is the class of snake? Write two biotic factors and one
biotic factor in grassland ecosystem.
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10. -s_ K[jLsf] pTkITtaf/] ninf; sf] ki/shkgf ;21tkdf nYgkff\. 8f0gf}/ / dflg; sf]

-V_

pTkITt ePsf sfnsflgfd nygkip\. xI/t uk kefjsf sg}b0{cfpf akiObfx¢,
nygxip\. [1.5+1+2=4.5]

Explain in brief about the origin of the earth of the basis of laplace's hypothesis.
Name the period in Which dinosaurs and human were evolved. Write down any
two disadvantages of green house effect.

;1{d08n egkf]s]xf]< tf/f d08n / ti/tk*h lar sh}b0{letgtix¢, nYgkif\
[1+2=3]
What is solar system? Write any two differences between constellation and galaxy.

Marking Scheme
Set 2

1. -s_ sbluk tyf pkuksf]; txIt/ :jtog kj§ vl;/x¥f]j:tdf To; sflu?Tj ann]

-V_

ubf{pTkeg xg]kjunfO{u?Ty kjb elge5 . [1]
t/f0{1f4sflu?Tj kjhsfldig adl x65 . [0.5]
Isgeg]u?Tj kjbsfldig cw{of; / pri0sfloflikinsf]ju§ & JoTjjdigkflts
x65 / t/f0§f]pri0 Ixdfnl Iffsfletbf sd ePsfn]u?Ty kjii adl x65 . [1]
oxfF ;?sflult (u)=o0m/s

kjli (g) = 9.8m/s’

;do (=25

prfo (hy =2

;80 h=ut+%gt?  [0.5]

or h=0x2+ % x9.8 X (2)?

=19.6m [1.5]

< prf0 (h) = 19.6m

-0f§ | PsfO gny/tif 0.5 36fpg]
gjls/0flo prhi{/ cgjls/flo prihflar letgtixe,

gjls/0flo prhf{ cgjls/0flo pihf{

-S_ | kpfyi ubfhfbf gl/ITtg]/ sd -S_ | kbfli ubfhfbf I/1Qb}hfg]/ kyl
;dodf kyl Igdfff ug{;Is65 . lgdfff ug{nfviyif{nfl5 .

-v_ | a9l kpfiin]phf{; %6 bf xt5 . | -v_ | a9 kpflin]phf{;$6 Igs6
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eljiodf cfpb .

Jf o:t}HdNbf]bO{ki/s ny/iif [2]

xfjf rig] 7o kavf hafg ugl/ kavinfo{6jfogd hiBl hyls/ rnfpkt

ljbot\plkibg X65 . [1]

2. -5 sh}j:thiofe/n jif lof;df /fubf j:thiofdflylt/ wslglkl/dfofids annfof

piljfk elgts .

-s_ cfls{dI8hsf]l; bwfet t/n / lof;
bJ#If nfu'x65 .

-s_knjgsf]l; bwfct t/n kbfyf
dfg nfu'x65 .

clisldishsT- bt
piljffk O Ij:yflkt t/nsf]tfh x55 .

Ny sf]l; bwfot
pgg]j:tsfthh O Ij:yflkt t/sf]
tih x5 .

Jf o:t}HdNg]bO{ki/s nyilf

[2]

xf08fins k} kf:snsf]lgoddf cfwfl/t 5 . [0.5]
pSt Igod 3ifff zbo / grixg]cj:yfdf dfto x5 . [0.5]
t/n kbfy§f] 39T offg]pks/0fnfo{xf08Hd6/ elg6s . [0.5]

kinsf] 3gTj zbWw kfglsf] 3gTjetbf adl x] ePsfn]of]zbl kfgldf xAS t/
kinsf]3gT) gukfglsf]3gTjethf sd xg]ePstn]kin ggkfgldf €65 . [1.5]

oxfF sfrsflcfotg (v) = 8cmx5ecmx4cm

= 160cm?
=0.00016m°
sf7sf]k08 (m) = 3gTj (x) cfotg (v)
= 800x0.00016
= 0.128kg

|j:yflkt kfgLsf]cfotg = sf7sf]Ik08
kfglsf]3gTj

_ nazs
]

=0.000128 m®

[1]

sfrsflkfgllegsf]lefu = [j:yflkt kfgLsf]cfotg

sf7sf]cfotg
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_oooowaE = _d o [1]

T poools | 10 S

3. -s_ - J:tsf]Iko8 / cofk¢ sflult zIStdf j:tSfltfkzISt e/ k5{.
- ttkzIStsflcGs Psf0 Sofnf]l xf].
oxfF 1k08 (m) = 1 kg = 0.5 kg

tidfsf]lj=tfwfz= (s) =400 jkg°c
tikjjdsflki/s dt)  =90°c

=70°
tiksfkl/dfof O <
tik ;dls/0f, Q =mxsxdt [1]
=0.5x400 x 70
= 14000 j electricity [1]

Psf0 gny§if 0.5 36fpg]
v -nj|;sflkiff; kbffif kg{u/L :ki6 cfs[t byg]u/L Idnfpg’ jf kbi{/ n}; sf]
b/l Idnfpg'elgts . [1]

- J:thf0{2F (center of curvature) df /fVgk5{. [1]

- cb/ bliésf]sdhf]l xf]. [0.5]

- pSt sdhf]l x6fpg sbsk ny; sflkbfp ugk5{ [0.5]
4. -s_- |jbbt\zIStnfo{tfk zIStdf ¢ kfst/0f uglkljjofnfO{ljbbtsf]ttk c;/

elges .

- pks/0fsf]gfd - [jbbt\Ix6/

- oxftF
pks/(f ;of | hodf ; fdYy{
JNj 6ow |5 5x60=3000wW
IX6/ 750w | 2 2x750=1500w
gL kw |1 1x1000=1000w
h:df= 2800w

efléh (v) = 220v

[jbbt\wt/f 1 = E= E =1272A  [1]

t;y{cfjZos “ohsf]lfdtf 15 x65 . [0.5]
-V -
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hylb/ [jbot\dfp/
1= hplb/n]ofligs zIStnfO{ljbot\ I 0;n]ljbdt\zIStnf0{oflbgs
zIStdf ¢ kfst/0f us{ zIStdf ¢ kibt/0f us.
@- of]knf/f8%f][jbbt\rDaslo pTkihg | @- of]df§/ c;/sf]l; bwictdf
|; bivfbtdf cfwil/t x65 . cfwfl/t x65 .
5. -s_.tTjx¢ n]efits / /f;folgs ulixe, ltglxe sflki/ditfljs ef/sflkl/offs sfo{
Sjek x65l
i) A sf] ; eHotf =2 / ¢ sf] ; efotf =0 nj/Hif [1]
i) P —Ans ny/§f [1]
iii) A+B, — AB;
Mg + Cl,— Mg Cl, [1]
Mg + Cl, = Mg Cl, [1]
-vV_ - lin;$fh Id7f0 ulnoflagfpg, 5fnf kibgafe hflifpg kpfli ul/65 jf o:t}
sg}Ps nyiif [0.5]

1) Pdflgof lof; nj/gif [0.5]
2) Nh,Cl / Ca(oH), ny/fif  [1]
3) lehgf]/ftf]in6d; kk/ Uof; hi/df /fvl k/LITOF ul/t5 egl n/gif [1]
6. -s_- tidf ny/if
- wipndf witsf]dfgf lerSg ;Dej xg]Ju/l adl xt5 t/ Idglndf phnj/glo
witsf]dfgf xBg . [1]
- Ag+conc. H, 50, = Ag, S0,+H,0 [1]
- 2Ag + conc. 2H,S0, — Ag, S04+S0,+2H,0 [1]
(Balanced u/lf)
-V - SofIN; od Pnldgp / SoflN;od I; Inspsf]ld>0fsf /ftf 19six¢, hy
IM))=C tikjjdsfloxLaf6 v:5g\eg]o;nf0{ISn@s/ elgtS . [1]
- J5hf06 ttipbf kg g/d gxg]Ps Isl;dsf]lydf} 162 nfl:6s ePsf]
xgfn]egl nyiif [1.5]
- ;fI8od I:6/6 nyfif  [0.5] jf cto sh}Ps nyff [0.5]
- DDT sflkpfy ubf{k{0fl / jg:kitdf hddf x65 hy kfofl. / jg:kltsf]
kpfhi x65 ;T kj0flnfo{klg 3fts xt5 / nfdf / lauf]c; /x¢, hit}l

125



dflg; nfO{Sof6; /, dfSfx¢ sf]jpw 36%] r/fx¢ n]kih sd kig] kihsf]
affif kftnf]xg]/ jftfj/0fdf kis[ts ;6thg laufs .
7.-s_ - eft/; clobt};Td hijfof xflhy k0f{¢ kdf hlljt j:tdf cfl>t x5 [1.5]
- xfB]/fl ki/fldShf]ef0/; (Paramyxo Virus) N]nflb5 egl ni/§if [0.5]
- Jutst bO{sfof¢,
I: kI/JXg (Transportation)
@ ;71ff (Protection)
# 1go6qlf (Regulation)
sybo{njf [1]
v - xfdf]z/l/sf] sh}cBun] sb]stimulus Sf]pkl:yltdf Automatic ¢ kdf

tTsfn by/fpg]kltljjofnfo{csfo [jjof elgts . [1]
PShfj{f0g Unf68 068fJif0g Unft8
I gnloSt x65 . I gnl Ijx.g x65 .

@- 0;n]06hfod pTkfbg uS{. | @= xdf§nfo{l;wHut gnldf k¥ofpb .

o:t}syb0{letgtf ni/{lf [2]
; sf/1ds kifpf]6bflS; ; nj/ff  [1]
8. -s_- ;btfg pTkibgsft nflu z/l/sflkhgg c@ust sfifx¢, df dfq xg]Pp6f sfif
6IjiP/ rf/ cfpf atg]vinsf]sfif [jethgnfo{ldctl; ; sfif ljefhg elgts jf
o: t}dNg]kl/efiff ny/§if [0.5]
- dpfkih cj:yf nj/gif [0.5]
I= GolSno/ dajy lanfP/ hit5 .
- Jifpifie8x¢, sfifsfldioefudf ud{ldn] /x65g\. jf o:tHdNg]bO{kl/jtx,,
ny/gf [2]
- = o;n])z/U/sf]jpw / |jsf; x65 .
@- jzfofut l.y/tf sfod /V5 .
# cdylgs khgguf dbt u5{
Jf o:tHdNg]b0{dxTTjx¢, nyiif [0.5x2=1]
-V

- hijx¢ sf] ;@Vofdf jpw x65 .
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- hijx¢sfljz sfod /x5 .
Jf o:t}b0{lj ziftix¢, n/gif [2]
plgpsflhljg rjidf :kiltkioe / lofdfkif06 hylt g PskiS csqcio/x65 .
0;nf0{cN6/g} g ckn hylt g elgts .

K-t kil6g, le6fldg / vigh ki065 . db/fl, [rgl/fh Igobq0f x65 . o:t}dNg]

kifObfx¢, ny/iif [0.5]
9. -s_- sinflxg]ulf kan udf ePsfn]/ sy}hfBf ki/s ulf ePsf hijx¢lar
k/kngo\xBt kixnflk:tfdf khn ulf dfgq bivg]ePsin]nyfif [1]
— bi} {13 2sf]lkigfefok / Ihgfpfojsflcgkit 3:1 / 1:2:1 ny/ff  [0.5]
— Adenine guanine, cytosine and Uracil dlio] sg}h0{nj/{if [2x0.5=1]
— DNA n]jf0fut ulf ;fg{dbt uS{egl ny/fif [1]

;\nf] ;6tnf

I= lap kinn]9flsPsf]xBy . I= lap kinleq 9fISPsf]x65 .

@- xfjfafe dfq k/fu ;Jg x5 . | @= xfjfafx cto dfiodaf6 kig k/fu
;¥g x5 .

egl ny/if [1]
;kEf]Snf; - /K6Inof (Reptilian) nY/if [0.5]
di6f] (soil) kifz (Light) kfgl (Moisture) tfk (heat) dlio]st}bd{chls
tyx¢, nj/gf [2x0.5=1]
- xl/of la?jfx¢, hijx¢ dio]Ps hljs tTTj nj/gif  [0.5]

10.  -s_- cfsfzdf kinPsf whisf s0x¢ larsflu?Tjfsif§fn]ubf{Pscsf & 75s/

vig]jid rin/xBf k[jlnufot |jlebg uk tyf pkuk¢ aghf xg\. [1.5]
8f0gf} / - 66fl;s sin
dflg; - clt g'tg sfn [2x0.5=1]

- X/t uk kefjsf b0{akifObfx¢,
1= k[jLsf] tikjjddf jpw x65 .
@- Ixdfnsf]Ixp klinbf ;fdlbk Isgf/fsf bix¢, 8hg ;Sglvt/f x65 .
Jf cbo ldNg]st}o0{akifObix¢, ni/gif [2x1=2]
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v ;0{/ o;s]jl/kl/ 30gJukxe,, pkukxe, 1zz" ukxe, pTsxe, wdstke,

OToflbsf] ; dXnf0{; f§{d08n elge5 . [1]

tf/f d08n tf/tk~h

I= loglx¢, lglZrt cfst/ agfQf I= loglx¢, lglZrt cfst/df /xsf]xb§o\.
; dXdf /xBf x650\.,

0- o;df s}l ti/fx¢, -** xt5g\. | @- 0;df cgluctl -s/fBiFti/fx¢, X650\,

Jf o:t}h0{ki/sx¢, nytif [1]
; dfft
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